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Child Development & Pedagogy 
 

 

1. How is aptitude distributed in human 

beings ? 

(A) The distribution is normal. 

(B) The distribution is scattered. 

(C) The distribution is skewed. 

(D)The distribution is multifariously. 

2. The mental representations or ideas 

about what things are and how we 

deal with them are called. 

(A) Constructs (B) Networks 

(C) Schemas (D) Structures 

3. In  a classroom of 15 children where 

you have 15 different learning styles 

and 15 different personalities,  child 

– centred teaching is: 

(A) Developing one lesson plan with 

one mode of teaching   

(B) Developing lesson plan by 

looking at every child and what 

his or her needs are 

(C) Developing a lesson plan 

targething the middle of the 

class ability wise     

(D) Developing a lesson plan that fits all 

4. The theorist remembered as the 

"Father of Progressive education" is 

(A) Friendrich Frobel 

(B) John Dewey 

(C) Jean Piaget (D) Graham Gibbs 

5. In Discovery Learning, The teacher 

plays the role of a .......... of learning. 

(A) Counsellor (B) Facilitator  

(C) Manager (D) Inspirer 

6. Special Education is related to. 

(A) Training programmes for gifted 

children    

(B) Training programmes for teachers 

(C) Education for talented people  

(D) Educational programmes for 

disabled 

 

Ckky fodkl ,oa f'k{kk 'kkL= 

1- ekuo tkfr esa vfHko`fÙk fdl izdkj ls forfjr 

gS\ 

(A) forj.k lkekU; gSA(B) forj.k vLrO;Lr gSA 

(C) forj.k fo"ke gSA(D)forj.k fofo/krkiw.kZ gSA 

2- dksbZ oLrqq D;k gS vkSj ge mlds lkFk dSls 

O;ogkj djrs gSa] bl fo"k; esa mlls tqM+s 

ekufld izfr:i ;k fopkj dks dgk tkrk gS% 

(A) fuekZ.k  (B) usVodZ   

(C) Ldhek  (D) lajpuk 

3- 15 cPpksa dh d{kk esa tgk¡ vkids ikl 15 

vyx&vyx lh[kus dh 'kSyh vkSj 15 vyx& 

vyx O;fDrxr okys cPps gSa] cky&dsfUnzr 

f'k{k.k%  

(A) ,d f'k{k.k iz.kkyh ds lkFk ,d ikB 

;kstuk fodflr djukA    

(B) izR;sd cPps dks ns[kdj ,d ikB ;kstuk 

fodflr djrh gS] fd mldh t:jrsa 

D;k gSaA 

(C) d{kk dh {kerk ds e/; dks yf{kr djrs 

gq, ,d ikB ;kstuk fodflr djukA  

(D) ,d ikB ;kstuk fodflr djrh gS] tks 

lHkh ds fy, mi;qDr gSA 

4- ^^izxfr'khy f'k{kk ds tud** ds :i esa ;kn 

fd, tkus okys fln~/kkardkj gSa& 

(A) ÝsMfjd Ýkscsy (B) tkWu MwbZ 

(C) thu fi;kts  (D) xzkge fxCl 

5- vUos"k.k ¼fMLdojh½ vf/kxe esa] f'k{kd vf/kxe 

ds ,d-----------dh Hkwfedk fuHkkrs gSaA 

(A) lykgdkj  (B) leUo;d 

(C) izca/kd  (D) izsjd 

6- fo'ks"k f'k{kk blls lacaf/kr gS% 

(A) izfrHkk'kkyh cPpksa ds fy, izf'k{k.k 

dk;ZØe    

(B) f'k{kdksa ds fy, izf'k{k.k dk;ZØe 
(C) izfrHkk'kkyh yksxksa ds fy, f'k{kk   

(D) fodykaxksa ds fy, 'kSf{kd dk;ZØe 
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7. Sociometric analysis of group is used 

in measuring personality as a/an........ 

method. 

(A) Observational(B) Objective 

(C) Subjective (D) Projective 

8. Which of the following orientations 

falls under the stage of conventional 

morality according to Kohlberg ? 

(A) Orientaion towards punishment 

and obedience    

(B) Social concern and conscience 

(C) Morality of universal ethical 

principles    

(D) Instrumental purpose and 

exchange 

9. Which of the following is not an 

example of extrinsic motivation ? 

(A) Salary  (B) Praise 

(C) Passion  (D) Promotion 
10. Which of the following is TRUE when 

the teacher engages in Guidan-ce and 

counselling of children with special 

needs in school education ? 

(A) Teacher's own professional growth 

is evident    

(B) Teacher can get rewards, recogn-

ition and promotion 

(C) Under the teacher's guidance, 

students will feel secure and more 

engaged in the learning process.  

(D) Under the teacher's guidance, 

students get special attention. 

11. Thorndike theory of trial and error 

learning has emphasized the importa-

nce of...................... 

(A) Motivation (B) Rewards  

(C) Praise  (D) Punishment 

12. Punishment and rewards are the 

components of......................... 

(A) Behaviourism theory   

(B) Design-Based Research methods 

(C) Humanism theory    

(D) Connectivism theory 

7- ,d lewg ds lektfefr fo'ys"k.k dk mi;ksx 

O;fDrRo dks -------- fof/k ds :i esa ekius ds 

fy, fd;k tkrk gSA 

(A) izs{k.k  (B) oLrqfu"B 

(C) O;fDrfu"B   (D) iz{ksih 

8- fuEufyf[kr esa ls dkSu lk vuqdwyu 

¼vksfj,aVs'ku½] dksgycxZ ds vuqlkj ikjaifjd 

uSfrdrk ds pj.k ds varxZr vkrk gS\ 

(A) n.M ,oa vkKk ds izfr vuqdwyu 

¼vksfj,aVs'ku½    

(B) lkekftd lgkuqHkqfr vkSj foosd   

(C) lkoZHkkSfed uSfrd ewY;ksa dh uSfrdrk    

(D) lgk;d mís'; vkSj fofue;  

9- fuEufyf[kr esa ls dkSu ckg;izsj.kk dk mnkgj.k 

ugha gS\ 

(A) osru  (B) iz'kalk 

(C) tquwu  (D) inksUufr 

10- tc f'k{kd fon~;ky;h f'k{kk esa fo'ks"k 

vko';drkvksa okys cPpksa ds ekxZn'kZu vkSj 

ijke'kZ esa O;Lr jgrs gSa] rks fuEu esa ls D;k 

lR; gS\ 

(A)f'k{kd dk viuk O;kolkf;d fodkl Li"V gS 

(B) f'k{kd izksRlkgu] ekU;rk vkSj inksUufr ik 

ldrs gSaA 

(C) f'k{kd ds ekxZn'kZu esa] Nk= vf/kxe dh 

izfØ;k esa lqjf{kr vkSj vf/kd O;Lr 

eglwl djsaxsA    

(D) f'k{kd ds ekxZn'kZu esa] Nk=ksa dks fo'ks"k 

vo/kku izkIr gksrk gSA 

11- iz;Ru&=qfV vf/kxe ds FkkuZMkbd fln~/kkar us  

--------- ds egRo ij tksj fn;k gSA 

(A) izsj.kk  (B) iqjLdkj 

(C) iz'kalk  (D) naM 

12- naM vkSj izksRlkgu ---------------ds ?kVd gSaA  

(A) O;ogkjokn fln~/kkar    

(B) fMTkkbu&vk/kkfjr vuqla/kku fof/k 

(C) ekuorkokn fln~/kkar    

(D) la;kstdrk fln~/kkar 
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13. The flexibility of children to adjust 

to any circumstance is known as........ 

(A) Rigidity (B) Desirability 

(C) Inability (D) Plasticity 

14. What type of response is learned 

through the process of classical con-

ditioning ? 

(A) Unconditioned response   

(B) Reinforced response 

(C) Conditioned response   

(D) Neutral response 

15. The best method to study growth and 

development of the child is. 

(A) Comprative Method   

(B) Developmental Method 

(C) Statistical Method    

(D) Psychoanalytic Method 

16. Hierarchy of needs is an important 

perspective of motivation was propo-

unded by. 

(A) Maslow (B) Piaget 

(C) Pavlov  (D) Freud 

17. Among the following, mutual supp-

ort is found more in 

(A) Groups  (B) Teams  

(C) Society  (D) Classrooms 

18. In child centred education, what the 

child has to learn should be. 

(A) Judged through activities   

(B) Judged by the scores of their test 

results 

(C) Judged according to the ability, 

interest, capacity and previous 

experience of the child.   

(D) Judged according to the previous 

experience of the child 

19. Performance intelligence is measu-

red by: 

(A) Verbal Ability    

(B) Comprehension 

(C) Numerical Ability    

(D) Picture Arrangement 

13- fdlh Hkh ifjfLFkfr esa lek;ksftr gksus okys 

cPpksa ds yphysiu dks---------ds :i esa tkuk 

tkrk gSA 

(A) n`<+rk  (B) okaNuh;rk 

(C) v{kerk    (D) <yu'khyrk 

14- 'kkL=h; vuqca/ku ¼Dykfldy daMh'kfuax½ dh 

izfØ;k ds ek/;e ls fdl izdkj dh izfrfØ;k 

lh[kh tkrh gS\ 

(A) vlqfo/kktud izfrfØ;k      

(B) izcfyr izfrfØ;k   

(C) okrkuqdwfyr izfrfØ;k  

(D) rVLFk izfrfØ;k 

15- fdlh cPps dh o`f) vkSj fodkl dk v/;;u 

djus dk loksZRre rjhdk gS% 

(A) rqyukRed fof/k  

(B) fodklkRed fof/k 

(C) lkaf[;dh; fof/k  

(D) euksfo'ys"k.kkRed fof/k 

16- vko';drkvksa dk inkuqØe] izsj.kk dk ,d 

egRoiw.kZ ifjizs{; gS] ftls buds n~okjk 

izfrikfnr fd;k x;k Fkk% 

(A) ekLyks  (B) fi;kts 

(C) ikoyko  (D) Ýk;M 

17- fuEufyf[kr esa ls ikjLifjd lg;ksx blesa 

vf/kd ik;k tkrk gS% 

(A) lewg  (B) Vhe 

(C) lekt  (D) d{kkx`g 

18- cky&dsafnzr f'k{kk esa] cPps dks tks lh[kuk 

pkfg,] og fuEukuqlkj vkaduk pkfg,% 

(A) xfrfof/k;ksa ds ek/;e ls    

(B) muds ijh{kk ifj.kkeksa ds vadksa ls 

(C) cPps dh ;ksX;rk] #fp] {kerk vkSj fiNys 

vuqHko ds vuqlkj    

(D) cPps ds fiNys vuqHko ds vuqlkj 

19- izn'kZu cqf) dks fuEu ds }kjk ekik tkrk gS% 

(A) ekSf[kd {kerk  (B) le> 

(C) la[;kRed {kerk    

(D) fp= O;oLFkk 
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20. The word 'consistency' is associated 

with: 

(A) Personality (B) Attitude 

(C) Intelligence (D) Motivation 

21. The prejudice against a person on the 

basis of sex of that person is............ 

(A)Gender stereotype(B)Gender bias 

(C) Gender identity(D) Gender issue 

22. The last stage of psychosocial deve-

lopment is - 

(A) Identity v/s. Confusion   

(B) Trust v/s. Mistrust 

(C) Generativity v/s Stagnation  

(D) Integrity v/s Despair 

23. Which of the following is the best 

way the teacher can guide children 

with special needs is school educa-

tion ? 

(A) Give higher challenging tasks  

(B) Give more testes 

(C) Providing support and tips  

(D) Provide more homework 

24. Which of the following is an exam-

ple of a lower order need in Maslow' 

hierarchy of needs ? 

(A) Esteem needs  

(B) Self-actualization needs  

(C) Safety needs  

(D) Love and belongingness needs 

25. Which among the following types of 

intelligence would be most used 

when trying to navigate through 

traffie ? 

(A) Naturalistic intelligence   

(B) Spatial intelligence 

(C) Interpersonal intelligence   

(D) Emotional intelligence 
26. Reading skills can be best developed by: 

(A) Writing answers    
(B) Playing word games/doing quizzes 

(C) Focusing on the use of words in the 

text    
(D) Doing vocabulary exercises 

20- 'kCn ^^lkeatL;** blls lacaf/kr gS% 
(A) O;fDrRo  (B) eukso`fÙk 

(C) cqf)     (D) izsj.kk 

21- ,d O;fDr ds fyax ds vk/kkj ij] ml O;fDr ds 

f[kykQ iwokZxzg ¼i{kikr½-----------gksrk gSA 

(A) ySafxd :f<+c)rk ¼tsaMj LVhfj;ksVkbi½    

(B) ySafxd HksnHkko ¼tsaMj ckbvl½   

(C) ySafxd igpku ¼tsaMj vkbZMsafMVh½    

(D) ySafxd eqík ¼tsaMj eqík½ 

22- eukslkekftd fodkl dk vafre pj.k gS& 

(A) igpku cuke Hkze  

(B) fo'okl cuke vfo'okl 

(C) mnkjrk cuke Bgjko     

(D) v[kaMrk cuke fujk'kk 

23- fuEufyf[kr esa ls dkSu&lk rjhdk gS ftlls fd 
f'k{kd fo|ky;h f'k{kk esa fo'ks"k vko';drkvksa 

okys cPpksa dk ekxZn'kZu dj ldrs gSa\  

(A) vf/kd pqukSrhiw.kZ dk;Z nsuk   

(B) vf/kd ijh{k.k nsuk 

(C) lg;ksx vkSj lq>ko nsuk    

(D) vf/kd x`gdk;Z iznku djuk 

24- fuEufyf[kr esa ls dkSu lk ekLyks dh 

vko';drkvksa ds inkuqØe esa fuezre Øe dh 

vko';drk dk ,d mnkgj.k gS\ 

(A) lEeku dh vko';drk,a    

(B) vkRe&cks/k dh vko';drk,a 

(C) lqj{kk dh vko';drk,a    

(D) I;kj ,oa viusiu dh vko';drk,a 

25- fuEufyf[kr esa ls fdl izdkj dh cqf) dk 

mi;ksx] ;krk;kr ds ek/;e ls usfoxsV djus dh 

dksf'k'k djrs le; fd;k tk,xk \  

(A) izd`frdoknh cqf) (B) Lfkfud cqf) 

(C) varosZS;fDrd cqf) (D) HkkoukRed cqf) 

26- iBu dkS'ky dks bl izfØ;k }kjk lcls vPNh 

rjg fodflr fd;k tk ldrk gS 

(A) mÙkj fy[kuk    

(B) oMZ xse [ksyuk@fDot djuk 

(C) ikB esa 'kCnksa ds mi;ksx ij /;ku dsafnzr 

djuk  

(D) 'kCnkoyh vH;kl djuk  
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27. Irrespective of the kind of impair-

ment, all children are capable of: 

(A) Movement (B) Hearing 

(C) Learning (D) Seeing 

28. What type of thinking is associated 

with creativity ? 

(A) Convergent thinking   

(B) Divergent thinking 

(C) Insightful thinking    

(D) Transductive thinking 

29. Who introduced the theory of 

Universal Grammar in language dev-

elopment ? 

(A) Piaget  (B) Vygotsky 

(C) Skinner  (D) Chomsky 

30. Intelligence is a product of both......... 

and environment. 

(A) Culture  (B) Community 

(C) Heredity (D) Society 

 

27- fdlh izdkj dh vleFkZrk ds ckotwn] lHkh 

cPps fuEu esa l{ke gksrs gSa% 

(A) pyus  (B) lquus 

(C) lh[kus  (D) ns[kus 

28- fdl izdkj dk fparu l`tu'khyrk ls lacaf/kr 
gksrk gS\ 

(A) vfHklkjh lksp (B) vyx lksp 

(C) varn`f"V lksp ¼bulkbVQqy fFkafdax½  

(D) ikjekfFkZd lksp ¼VªkalMfDVo fFkafdax½ 

29- Hkk"kk fodkl esa ;wfuolZy xzkej ds fl)kar dks 

fdlus is'k fd;k \ 

(A) fi;kts  (B) okbxksRldh 

(C) fLduj  (D) pkWEldh 

30- cqf)eÙkk]------------vkSj i;kZoj.k nksuksa dk 

,d mRikn gSA 

(A) laLd`fr  (B) leqnk; 

(C) vkuqoaf'kdrk (D) lekt 

Hkk"kk – I fgUnh 

funsZ'k & ¼iz'u 31&36 rd½ % uhps fn, x, x|ka'k 

dks i<+dj iwNs x, iz'uksa ds lgh@lcls mi;qDr 

mÙkj okys fodYi dks pqfu,& 

 

i|ka'k 

 

 gok pys vuqdwy rks ukosa ukSflf[k, Hkh [ks 

ysrs gSa] lgt Mxj ij y¡xMs+ Hkh py cSlk[kh ls 

ysrs gSaA feV tkrs tks nhi Lo;a jks'ku dj yk[k 

fpjkxksa dks ueu mUgsa gS] tks ykSVk ykrs gSa xbZ 

cgkjksa dksA QSykdj ds gkFk fdlh ds lEeq[k >qduk 

vklk¡ gS] cgrh ufn;k ls ikuh ih I;kl cq>kuk 

vklk¡ gS] fuR; [kksndj u, dq,¡ tks lcdh I;kl 

cq>krs gSa] ogh yksx gSa tks lfn;ksa rd tx esa iwts 

tkrs gSaA 

31- dfo mUgsa ueu dj jgk gS] tks& 
(A) nwljksa dks izsj.kk nsdj ejrs gSa   

(B) yk[kksa nhid tykrs gSa 

(C) ygjksa ij uko pyk ysrs gSa   

(D) ygj ekxksaZ ij pyrs gSa  

32- dfork esa ^cSlk[kh* dk HkkokFkZ gS& 
(A) ,d eghuk  (B) lgkjk 

(C) lh<+h  (D) ,d Qly  

33- ^ikuh ih I;kl cq>kuk vklk¡ gS* esa vyadkj gS& 

(A) vuqizkl  (B) ekuohdj.k  

(C) miek  (D) :id   

34- lekt mUgsa lnk lEekfur djrk gS] rks tks& 
(A) I;kls dks ikuh fiykrs gSa    

(B) vius dkeksZa ls lcdk fgr djrs gSa  

(C) lfn;ksa rd iwts tkrs gSa    

(D) fuR; u;s dq,¡ [kksnrs gSa  

35- dfo ds vuqlkj mudk thou vklku ugha gS] 

tks& 

(A) yksxksa ds lkeus gkFk QSykrs gSa   

(B) cSlk[kh ds lgkjs pyrs gSa  

(C) ifjJe ls chrh cgkjksa dks ykSVk ykrs gSa  

(D) Lo;a vius gh fy, lk/ku tqVkrs gSa  

36- ^ukSflf[k;k* gS& 
(A) ukS fo"k; tkuus okyk    
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(B) u;s fo"k; i<+us okyk  

(C) u;k fl[kkus okyk    

(D) u;k lh[kus okyk   

funsZ'k&¼iz'u 37&45½% fn, x, x|ka'k dks i<+dj 

lcls mfpr fodYi dk p;u dhft,& 
 

x|ka'k 

  

 f'k{kk dh cSadjh vo/kkj.kk ¼cSafdxa dkWulsIV½ 

esa Kku ,d migkj gksrk gS] tks Lo;a dks Kkuoku~ 

le>us okyksa ds }kjk mudks fn;k tkrk gS] ftUgsa os 

furkUr vKkuh ekurs gSaA nwljksa dks ije vKkuh 

crkuk mRihM+u dh fopkj/kkjk dh fo'ks"krk gSA og 

f'k{kk vkSj Kku dks ftKklk dh izfØ;k ugha ekurhA 

f'k{kd vius Nk=ksa ds le{k Lo;a dks ,d vko';d 

foykse ds :i esa izLrqr djrk gS( mUgsa ije vKkuh 

ekudj og vius vfLrRo dk vkSfpR; fl) djrk 

gSA Nk=] gsxsyh; }U}okn esa of.kZr nklksa dh Hkk¡fr] 

vyxko ds f'kdkj gksus ds dkj.k vius vKku dks 

f'k{kd ds vfLrRo dk vkSfpR; fl) djus okyk 

le>rs gSa&ysfdu bl QdZ ds lkFk fd nkl rks 

viuh okLrfodrk dks tku ysrk gS ¼fd ekfyd dk 

vfLrRo mlds vfLrRo ij fuHkZj gS½] ysfdu ;s Nk= 

viuh bl okLrfodrk dks dHkh ugha tku ikrs fd 

os Hkh f'k{kd dks f'kf{kr djrs gSaA  

37- f'k{kk dh cSadh; vo/kkj.kk f'k{kk dks fdl :i 

esa izLrqr djrh gS\ 

(A) f'k{kk Kku ds ysu&nsu dh izfØ;k gS  

(B) f'k{kk esa dsoy Nk= f'k{kdksa dks f'kf{kr 

djrs gSa  

(C) f'k{kk esa migkjksa dk ysu&nsu gksrk gS  

(D) f'k{kk dh izfØ;k esa dsoy ije vKkuh 

'kkfey gksrs gSa   

38- x|ka'k ds vuqlkj Nk= viuh fdl okLrfodrk 

dks ugha tku ikrs \ 

(A) f'k{kk esa Kku gh loksZifj gS   

(B) f'k{kd iw.kZr% f'kf{kr ugha gS  

(C) os vKkuh gSa (D) f'k{kd Kkuoku~ gS   

39- bl x|ka'k ds vuqlkj f'k{kk dh izfØ;k lEiUu 

gksus ds fy, vfuok;Z 'krZ gS& 

(A) f'k{kd dk ije Kkuoku~ gksuk   

(B) Nk= dk ije vKkuh gksuk  

(C) Nk=ksa dk lh[kus ds fy, mRlqd gksuk  

(D) f'k{kd dh mifLFkfr   

40- x|ka'k ds vuqlkj mRihM+r dh fopku/kkjk dh 

fo'ks"krk D;k gS\ 

(A) f'k{kd ^Js"B gS vkSj Nk= ^ghu* gS  

(B) vkn'kZ f'k{kd lnSo mRihM+d gksrk gS  

(C) ije vKkfu;ksa dk 'kks"k.k vfuok;Z gS  

(D) f'k{kk Kku dk migkj gS   

41- x|ka'k esa--------ij djkjk O;aX; fd;k x;k gSA 
(A) mRihfM+rksa dh n'kk (B) f'kf{krksa dh n'kk  

(C) f'k{kd vkSj Nk= ds e/; lEcU/k   

(D) Kkuoku~ O;fDr;ksa   

42- ^ftKklk* 'kCn ls cuus okyk fo'ks"k.k gS& 
(A) ftKklkokyk  (B) ftKklq  

(C) ftKklk'khy  (D) ftKklh   

43- fdl 'kCn esa nks izR;;ksa dk iz;ksx gqvk gS\ 

(A) Kkuoku~  (B) fo'ks"krk  

(C) fopkj/kkjk  (D) okLrfodrk   

44- izLrqr x|ka'k esa ^furkUr* 'kCn dk vFkZ gS& 

(A) ,dkUr  (B) cgqr  

(C) fcydqy  (D) dsoy   

45- ^^--------mUgsa ije vKkuh ekudj og vius 

vfLrRo dk vkSfpR; fl) djrk gSA** js[kkafdr 

'kCn dh txg fdl 'kCn dk iz;ksx fd;k tk 

ldrk gS\ 

(A) izfrQfyr  (B) varfuZfgr  

(C) izfrLFkkiuk  (D) izekf.kr   

46- d{kk ^,d vkSj nks* ds cPpksa ds fy, vki 

fdl rjg dh dgkuh dk p;u djsaxs \ 

(A) ftlesa cgqr lkjs ik= gksa    

(B) ftlesa nks gh ik= gksa  

(C) ftlds 'kCnksa] okD;ksa vkSj ?kVukvksa ds  

 o.kZu dh 'kSyh fp=kRed gks    

(D) tks cgqr NksVh gks 
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47- i<+us dk izkjEHk& 
(A) dgkfu;ksa ls gksuk pkfg,    

(B) dforkvksa ls gksuk pkfg,  

(C) vFkZ&iw.kZ lkexzh ls gksuk pkfg,   

(D) o.kZekyk ls gksuk pkfg, 

48- Hkk"kk esa lrr~ vkSj O;kid vk¡dyu dk mís'; gS 

(A) Hkk"kk ds O;kdj.k dk vk¡dyu djuk  

(B) Hkk"kk ds ekSf[kd vkSj fyf[kr :iksa ds 

iz;ksx dh {kerk dk vk¡dyu  

(C) i<+dj le>us dh {kerk dk vk¡dyu  

(D) orZuh dh v'kqf) ds fcuk fy[kus dh 

{kerk dk vk¡dyu 

49- Hkk"kk lh[kus dk O;ogkjoknh n`f"Vdks.k--------- 
ij cy nsrk gSA 

(A) jpukRedrk  (B) Hkk"kk&iz;ksx  

(C) i;Zos{k.k  (D) vuqdj.k 

50- izkFkfed Lrj ij cPpksa ds fy, cky&lkfgR; ds 
p;u dk eq[; vk/kkj D;k gksuk pkfg, \ 

(A) jkspd fo"k; oLrq  

(B) jaxhu fp=  

(C) ljy tkudkjh  

(D) NksVh jpuk,¡ 

51- Hkk"kk vftZr djus esa ok;xksRLdh us fdl ij 

lcls vf/kd cy fn;k gS\ 

(A) d{kk esa cksyh tkus okyh Hkk"kk ij  

(B) Hkk"kk dh ikB~;&iqLrd ij  

(C) lekt esa gksus okys Hkk"kk iz;ksxksa ij  

(D) ifjokj esa cksyh tkus okyh Hkk"kk ij 

52- izkFkfed Lrj ij Hkk"kk dk ek/;e & 
(A) fgUnh gksuk pkfg,    

(B) LFkkuh; Hkk"kk ds vuqlkj gksuk pkfg,  

(C) cPps dh ekr`Hkk"kk gksuk pkfg,A   

(D) vaxzsth gksuk pkfg, 

53- cPps izkjEHk ls ghA 
(A) Hkk"kk esa detksj gksrs gS    

(B) ,d Hkkf"kd gksrs gSa  

(C) f}Hkkf"kd gksrs gSa  

(D) cgqHkkf"kd gksrs gSa 

54- Hkk"kk lh[kus dh dkSu&lh fof/k ekr`Hkk"kk dks 
e/;L; cuk, fcuk nwljh Hkk"kk dks lh[kus esa 

lgk;d gksrh gS\ 

(A) f}Hkk"kh fof/k  

(B) vizR;{k fof/k  

(C) izR;{k fof/k  (D) vuqokn fof/k 

55- Hkk"kk lh[kus&fl[kkus ds lanHkZ esa x`gdk;Z dk 
mís'; gksrk gS& 

(A) vfHkHkkodksa dks izlUu djuk   

(B) cPpksa dks dk;Z esa O;Lr j[kuk  

(C) dkWfi;k¡ Hkjuk    

(D) lh[kus dks foLrkj nsuk 

56- igyh d{kk esa izos'k ysus ls igys vkerkSj ij 

cPps& 

(A) Hkk"kk ds O;kdjf.kd fu;e tkurs gSa  

(B) rqrykdj cksyrs gSa  

(C) iBu& ys[ku esa n{k gksrs gSa   

(D) Lo&vfHkO;fDr tkurs gSa 

57- i<+us dh laLd`fr ds fodkl ds Øe esa--------- 
iBu dks izksRlkfgr fd, tkus dh vko';drk gSA 

(A) ekSu   (B) lkewfgd  

(C) oS;fDrd  (D) lLoj 

58- O;kdj.k&f'k{k.k dh vkxeu fof/k dh fo'ks"krk gS& 

(A) igys euksjatu xfrfof/k;k¡ djkuk   

(B) igys mnkgj.k izLrqr djuk  

(C) igys fu;e crkuk    

(D) igys fu;e dk fo'ys"k.k djuk 

59- Hkk"kk dk vfLrRo ,oa fodkl----------ds ckgj 

ugha gks ldrk A 

(A) lkfgR;  (B) lekt  

(C) fo|ky;  (D) ifjokj 

60- f}Hkkf"kd cPps---------------fodkl] lkekftd 
lfg".kqrk vkSj---------fpUru esa vis{kkd`r 

csgrj gksrs gSaA 

(A) lafØ;kRed] dsfUnzr 

(B) laKkukRed] lhfer  

(C) lafØ;kRed] lhfer 

(D) laKkukRed] foLr`r 
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Language 2 (English) 
Directions – (Q.61 to 69) : Read the 

passage given below and answer the 

questions that follow by selecting the most 

appropriate option. 
 

PASSAGE 
 

 World Animal Day had been 

observed 4th October since 1951, as a way 

of highlighting the plight of endangered 

species. Since then, 1t has become a day 

for remembering and paying tribute to all 

animals and the people who love and 

respect them. If's celebrated in different 

ways in every country, with no regard to 

nationality, religion, faith or political 

ideology. 

 Since the official World Animal Day 

website was launched by Nature watch 

Foundation, the number of events taking 

place throughout the world has increased 

and the trend continues. And, that is the 

aim of the World Animal Day initiative; to 

encourage everybody to use this special 

day to highlight their importance in the 

world; celebrate animl life in all its forms; 

celebrate humankind's relationship with the 

animal kingdom; acknowledge the diverse 

roles that animals play in our lives-from 

being our companions, supporting and 

helping us, to bringing a sense of wonder 

into our lives; and acknowledge and be 

thankful for the way in which animals 

enrich our lives. Increased awareness will 

lead the way to improved standards of 

animal welfare throughout the world. 

Building the intitiative is a way to unite the 

animal welfare movement with Something 

that everyone can join in, whether they are 

part of an organization, group, or as an 

individual. Through education, we can 

help create a new culture of respect and 

sensitivity, to make this world a fairer 

place for all living creatures. On the 

website people will find everything they 

need to make World Animal Day a reality 

in their area. If we care about animals, we 

shouldn't miss this special day O help 

make animal welfare issues front Page 

news around the globe-a vital catalyst for 

change. 

61. In reading this passage, we learn that 

the World Animal Day is an/a .......... 

celebration. 

(A) commemoration held in 1931  

(B) monthly, on the 4th 

(C) year long (D) annual 

62. The writer points out that animals are 

important because they - 

(A) make use appreciate the diversity 

(B) can replace people by being 

 more resourceful 

(C) will outlive human beings in the 

 years to come    

(D) can be put to work in many ways 

63. The launch of the website is to - 

(A) serve as a source of reference 

about animals    

(B) promote social networking by 

animal lovers 

(C) provids guidelines to celebrate 

Animal Day    

(D) give information about endan- 

gered animal species 

64. The writer implies that animals are -  

(A) often subject to mistreatiment  

(B) treated cruelly by human beings 

(C) usually given due protection  

(D) ignored altogether 

65. Identify the correct statement. 

(A) The new website was started by 

the writer    

(B) Animals often pose a danger to 

people 
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(C) People tend to forget to celebrate 

Animal Day    

(D) Animal Day reminds us to care 

for other species 

66. The expression : 'a sense of wonder' 

means - 

(A) a deep understanding   

(B) a critical reaction 

(C) a sympathetic attitude   

(D) an emotional respose 

67. A closest synonym for the word 

'sensitivity' as used here is - 

(A) tolerance (B) passivity 

(C) affection (D) awareness 
68. The antonym of the word 'initiative' is - 

(A) advance (B) enterprise 

(C) idleness (D) indifference 

69. A word in the essay that means 

'impetus' is - 

(A) welfare  (B) trend 

(C) catalyst  (D) reality 
 

Directions – (Q.70 to 75) : Read the 

passage given below and answer the 

questions by selecting the most appropriate 

options. 
 

PASSAGE 
 Your attitudes are the perspectives 

from which you view life. Some people 

seem to have a good attitude towards most 

things. Sonme people seem to have a bad 

attitude towards everything. But when you 

look closer, you will find that most of us 

have a combination of attitudes, Some 

good, some not so good. 

 Whatever attitude we have towards 

anything will affect how we feel about it, 

which in turn determines whether or not 

.we will do well. So our right attitudes play 

.a very important part in helping us 

become successful. 

 In fact, as we can see, a good attitude 

: is essential for achievement of any kind! 

We so often hear off someone who is said 

to have a "bad attitude". The term is often 

applied to young people, especially to : 

teenagers who frequently get into trouble, 

but we often hear it about adults, too. The : 

implication is always that the individual in 

question is not going to make it if he 

doesn't change his attitude. 

 I would agree, without a good 

attitude it is not possible to see the 

opportunities ahead and set one's sights to 

reach them. But even more important is the 

fact that in order to possess the kind of 

feelings which work for us, we've got to 

have the right attitude to start with. 
 But where do we get our attitudes from 

? Are we borm with them or do they just 

appear out of nowhere ? Our attitudes are no 

accident. They don't just happen. Our 

attitudes are created and influenced 

entirely by our beliefs. 

70. Which part of speech is the underlin-

ed word in the sentence given below 

? ' Some people seem to have a good 

attitude towards most things.' 

(A) Conjunction (B) Adverb 

(C) Preposition (D) Adjective 

71. A/An..............attitude is absolutely 

necessary for attainment of any kind. 

(A) good  (B) virtuous 

(C) cheerful (D) optimistic 

72. The term "bad attitude" is used for 

young people because they - 

(A) are unpredictable    

(B) defy all kinds of authority 

(C) behave irresponsibly   

(D) often get into difficulty 

73. Right attitudes are absolutely essenti-

al to - 

(A) promote our mental well-being  

(B) succeed in life 

(C) win the good will of our peers 

 and superiors    
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(D) have harmonious relations with 

 others 

74. Which one of the following stateme-

nts is correct ? 

(A) Our attitudes are the results of 

 our personal experience   

(B) we are born with our attitudes 

(C) Our attitudes are influenced by 

 our parents only    

(D) Our attitudes are created and 

 controlled by our beliefs. 

75. The word 'determine' most  nearly 

means - 

(A) engage  (B) govern 

(C) influence (D) overcome 
76. Poetry teaching is generally meant for-  

(A) Learning grammar    

(B) Learning punctuation 

(C) Enjoyment and appreciation  

(D) Language learning 

77. When learners give feedback on each 

other's language, work, learning stra-

tegies, performance etc., it is called- 

(A) formal assessment    

(B) group assessment 

(C) self-assessment    

(D) peer assessment 

78. Travelogue is a genre of - 

(A) Criticism (B) Bibliography 

(C) literature (D) poetry 

79. Language is not- 

(A) instinctive (B) Social 

(C) arbitrary (D) symbalic 

80. Learning plan is an example of 

.................... 
(A) long term plan(B) mid term plan 

(C) short term plan(D) half yearly plan 

81. Banishing mother tongue in the 

classroom is the characteristic feat-

ure of .................. method. 

(A) Direct  (B) Bi-lingual 

(C) Grammar translaton   

(D) Art Integrated learning 

82. Annual examination in an evaluation 

which may be termed as - 

(A) Formative assessment   

(B) Summative assessment 

(C) Diagnostic assessment   

(D) None of the above 

83. Who would be the implementer of 

education ? 

(A) Education Department   

(B) Student 

(C) Curriculum (D) Teacher 

84. The study of meaning in a language 

is known as - 

(A) Semantics (B) Mor phology 

(C) Linguistics (D) Syntax 
85. The founder of structural Grammar was- 

(A) Chapman (B) Chomsky 

(C) Fries  (D) Newfield 

86. Active vocabulary consists of words 

which are............ 

(A) used occasionally    

(B) difficult to pronounce 

(C) Used frequently    

(D) phonological and lexical 

87. Literature for children is considered 

as a/an................reading. 

(A) additional burden on   

(B) authentic source of 

(C) hindrance material for   

(D) inspirational source of 

88. As  per stephen krashen, "The effec-

tive languae teacher is someone who 

can provide input and help make 

it.............. in a low anxiety situation. 

(A) Comprehensible(B) Fluent 

(C) easier    (D) grammatical 

89. Smallkids at their initial stage love to 

move pen and pencil in to and fro or 

up and down position. This way of 

writing is...................... 

(A) invented writing    

(B) zig-zag writing 

(C) drawing (D) scribbling 
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90. Correct speech habits can be develo-

ped most effectively through - 

(A) Vocabulary Practice   

(B) Quizzes 

(C) Dictations  

(D) Pronunciation practice 
  

LkaLd`r 

ladsr% v/kksfyf[kra x|ka'ka ifBRok iz'ukuka ¼61&69½ 

fodYikRedksÙkjsH;: mfprree~ mÙkja fpRok fy[kr% 

 iqjk o`=klqj% nsoku~ Hk`'keihM;r~A bUnzkn;% 

nsok% iztkifreqikxPNu~A rku~ iztkifr% vkxeuL; 

dkj.ke~ vi`PNr~A nsok% vonu~A izHkks o`=klqj% 

vLeku~ ihM;frA rL; 'kDrs% le{ka o;a Lfkkrqa u 

'kDuqe%A iztkifr% vHk.kr~ & gfj% ,o vLeku~ jf{kraq 

leFkZ%A reso 'kj.ka xPNke%A 

 nsoS% lkda oSdq.Ba xRok iztkifr% loZ o`ÙkkUra 

U;osn;r~A rr~ JqRok gfj% vdFk;r~ & Hkks% iztkirs! 

nsok% eg"ksZ% n/khps% vfUrda xRok rLekr~ vfLFk;kpua 

dqoZUrqA rL; vfLFkfHk% otzk;q/ka ?kV;rA rsu o`=klqja 

gUrqe~ vlqjku~ p tsrqa ikjf;";FkA 

 rr% losZ nsok% n/khps% rikouexPNu~A rL; 

riksoua dihuka ØhMkfHk% gfj.kkuka fogkjS% vyhuka 

xqŒtuS% p je.kh;e~ vklhr~A nsok% n/khps% vkJe 

izkfo'ku~A r= _f"kfHk% ifjo`re~ nsnhI;ekua n/khfpe~ 

vi';e~A 

61- vfLFkfHk% fde~ ?kV;r \ 

(A) xnk;q/ke~  (B) xksyk;q/ke~ 
(C) xqfVdke~  (D) otzk;q/ke~ 

62- okujk.kke~ bfr inL; i;kZ;'kCn% v=kuqPNsns 

iz;qDr%A rfPpRok fyf[krA 

(A) gfj.kkuke~ (B) unhuke~ 
(C) vyhuke~  (D) dihuke~ 

63- o`=klqja gUrqe~ vlqjku~ p tsrqa ikjf;";Fk bfr 

iztkifra d% mDroku~ \ 

(A) gfj%  (B) o`=klqj% 
(C) n/khfp%  (D) _f"k% 

64- nsoku~ d% vihM;r~ \ 

(A) dhyuk[;k unh (B) ioZrf'k[kj% 

(C) o`=klqj%  (D) fuEco`{k% 
65- rqequ~ izR;;kUr 'kCn% d% \ 

(A) flagklue~  (B) iztkifr% 
(C) dk.Me~  (D) LFkkrqe~ 

66- vleFkZ% bfr inL; foykse'kCn% vuqPNsns 

iz;qDr% rfPpRok fy[kr% 

(A) leFkZ%  (B) Jhd.B% 
(C) fcRoi=e~  (D) ve`rki=e~ 

67- ^DRok* izR;;kUrina fpRok fy[kr& 

(A) JqRok  (B) xUrqe~ 
(C) gUrqe~  (D) tsrqe~ 

68- izos'ka d`roUr% bfr inL; i;kZ;'kCn% 

vuqPNsns∙fLeu~ iz;qDr%A  

(A) t?kku~  (B) viBu~ 
(C) vire~  (D) izkfo'ku~ 

69- nsok% dS% ifjo`ra nSnhI;ekua n/khfpe~ vi';e~ \ 

(A) tyS%  (B) vfXufHk% 
(C) QyS%  (D) _f"kfHk% 

funZs’k& v/kksfyf[kru~ 'yksdku~ ifBRok iz'ukuka ¼70&75½ 

fodYikRedksÙkjsH;% mfprree~ mÙkja fpRok fy[kr&  

 vUunkukRija nkua fo|knkuer% ije~ 

 vUusu {kf.kdk r`fIr% ;koTthoa p fo|;kA 1A 

 iqLrdLFkk rq ;k fo|k ijgLrxra /kue~A 

 dk;Zdkys leqRiUus u lk fo|k u r)ue~A2A 

 v/kek /kufePNfUr /kuekukS p e/;ek%A 

 mÙkek ekufePNfUr ekuks fg egrka /kue~A 3A 

 lk{kja iq#"ka n`"V~ok ;ks ujks ukfHkeU;rsA 

 cyhonZleks yksds [kqjÜkaxfooftZr% A 4A 

 o`Fkko`f"V% leqnzs"kq o`Fkk r`IrL; Hkkstue~A 

 o`Fkk nkua leFkZL; o`Fkk nhiks fnokfi p A 5A 

 ;fLeu~ ns'ks u lEekuksa u izhfruZ p ckU/kok%A 

 u p fo|kxe% df'pr~ u r= fnola olsr~AA 

 6AA 

70- ^lkxjs"kq* bfr inL; i;kZ;ina 'yksds iz;qDre~A 

rfPpRok fy[kr& 

(A) fogxs"kq  (B) flags"kq 
(C) leqnzs"kq  (D) vj.;s"kq 
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71- vieku% bfr inL; foykse'kCn% 'yksds 

iz;qDr%A rfPpRok fy[kr& 

(A) tyikue~  (B) Hkkstue~ 
(C) iku%  (D) lEeku% 

72- ;koTthoa r`fIr% d;k Hkofr \ 

(A) isIlhikusu (B) fo|;k 
(C) vésu  (D) b{kqjlsu 

73- dhn`'ka /kua dk;Zdkys ykHkizna u Hkofr \ 

(A) ijgLrxre~ (B) futgLrxre~ 
(C) ekrq% gLrxre~ (D) firq% gLrxre~ 

74- eku% ds"kka /kua Hkofr \ 

(A) egrke~  (B) {kqnzk.kke~ 
(C) i'kwuke~  (D) if{k.kke~ 

75- DRok izR;;kUrina fpRok fy[kr 

(A) bPNfr  (B) r`fIr% 
(C) n`"V~ok  (D) vfHkeU;rs 

76- ekr`Hkk"kk/kkfjr&cgqHkk"kkokn% uke fde~ \ 

(A) dsoya ekr`Hkk"kk;k% vf/kxe%   
(B) ekr`Hkk"kkek/;esu vf/kxe% 
(C) izFkea ekr`Hkk"kk;% vf/kxe% rnuUrje~ 

 vf/kdkuka Hkk"kk.kka ;ksx%   

(D) vusdHkk"kk.kka fonsf'kHkk"kk.kka p 

 ekr`Hkk"kk:is.k v/;;ue~A 

77- fo|kyf;Hkk"kk f'k{kkuhfr% Kk;rs--------- 

(A) cgqHkkf"kf'k{kk bfrA   
(B) f'k{kk;ka Hkk"kk bfrA 
(C) ekr`Hkk"kk /kkfjr&cgqHkk"kkokn% bfr  

(D) f=Hkk"kklw=e~ bfr 
78- leqPp;Hkk"kk&mikxe% vfLr---------- 

(A) fo|kfFkZuka Hkk"kkf/kxe% Hkofr 
v{kj/ofuKkukuUrja 'kCnkuka] 

'kCnlewgkuka] okD;kuka p Kkusu bfr 

vo/kkj.kkA 
(B) fo|kfFkZuka Hkk"kkf/kxe% Hkofr 

Hkkf"kd[k.MsH;% vuUrja rs o.kkZuke~ 

v{kjk.kka p cks/ka dqoZfUr bfr 

vo/kkj.kkA  

 (C) Hkk"kkf/kxeL; vkjEHk% Hkofr y?kqresu 

,ddsu o.kZekyk;k% v{kjs.k bfr 

vo/kkj.kkA  

(D) lokZ% Hkk"kk% lekuekxsZ.k ,o vf/kxL;Urs 

bfr vo/kkj.kkA 

79- Hkk"kkf/kxekFkZ d.BLFkhdj.ke~ vM+x:is.k 

Hkk"kkf'k{k.kL; d% mikxe Lohdjksfr \ 

(A) lajpukRedksikxe% 
(B) O;kdj.kkuqokni)fr% 

(C) lEizs"k.kkRedksikxe% 
(D) lEiw.kZ'kkjhfjdizfrfØ;k 

80- dkO;k ,dk Hkk"kkf'kf{kdk vfLrA lk 

fo"k;kuqxq.ka 'kCnkuke~ vkgj.ka drqZa rs"kka 

lgxkfe'kCnkuka p vkgj.ka drqZa Nk=ku~ 

fufnZ'kfrA ,"kk ;kstuk@ i)fr% Kk;rs------- 

(A) foU;kl% bfr  
(B) 'kCntky% bfr 
(C) 'kCnØhMk bfr  

(D) 'kCnfuekZ.k% bfr 
81- Nk=k.kka Hkk"kkn{krk;k% ijh{k.ka drqZ f'kf{kdk 

,da iz'ui=a izLrkSfrA rfLeu~ ;k izR;sda 

iŒpea ina izR;kâR; ,da ifjPNsna nnkfr 

Nk=ku~ iŒpea rr~ fjäLFkkua iwjf;raq Nk=ku~ 

fufnZ'kfrA ,oEizdkjd% ijh{kkfof/k% Kk;rs----- 

(A) vocks/kiwoZda iBue~ bfr 
(B) 'kCnKkuijh{kk bfr 
(C) 'kwU;LFkkuiwj.ke~ bfr 
(D) Dykstijh{kk bfr 

82- lEHkk"k.kle;s mfprsu mPpkj.ksu lg 

leqfpr'kCnkuka leqfprØes.k iz;ksx%A 

(A) lM+sdrHkk"kk  
(B) lEHkk"k.kizfØ;k 
(C) Hkk"kkO;kikj%  

(D) iz;ksxk/kkfjrHkk"kk 
83- dFkkdFkue~ ,da f'k{k.k'kkL=h;e~ midj.ke~ 

vfLr~A rL; mi;ksx% fØ;rs--------------- 

(A) Jo.kdfrfo/kkS Nk=ku~ fu;kstf;rqe~A  
(B) Nk=k.kka lEHkk"k.kdkS'kyL; fodklkFkZe~A 
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(C) Hkk"kklkfgR;dkS'kyL;  fodklkFkZe~A  

(D) d{kk;ke~ vuq'kklua ikyf;rqe~A 

84- llUnHkZ O;kdj.ke~ uke& 

(A) iqu% iqu% vH;klcysu O;kdj.kL; 

vf/kxeue~A    
(B) iwoZe~ :ik.kke~ Kkue~ vuUrja iz;ksxa 

bfr izo`fÙk% 
(C) LokHkkfodHkk"kk;k% mnkgj.ks"kq :ik.kka 

ifjp;% rFkk p lUnHksZ rs"kke~ 

v/;;ue~ 

(D) O;ofLFkr lajpukek/;esu :ik.kke~ 

vf/kxeue~ ;su fo|kFkhZ Øe'k% fodkl 

izkIuksfrA 

85- v/kksfyf[krs"kq dL; dkS'kyfodklkFkZ ys[kue~ 

bR;fLeu~ xzg.ka u Hkosr~ \ 

(A) O;k[;kule;s fVIi.khlM+dyue~   
(B) iBule;s fVIi.khys[kue~ 
(C) lkjka'kys[kue~    

(D) dL;fpr~ dk;ZØeL; d`rs ;kstuki=ys[kue~ 
86- ikBîiqLrdfuekZrkj% o`Ùki= & if=dkfn & 

ewyys[ksH;% ikBku~] dfork% o.kZukfu lekâR; 

ikBîiqLrds"kq fu;kst;fUr fdeFkZe~ \ 

(A) rs"kq fo'oluh;k LokHkkfodh p Hkk"kk 

fo|rsA 
(B) ikBîiqLrdfuekZr`H;% rkfu jkspUrs 
(C)vH;kliz'ukuka fuekZ.ka rs"kke~ mi;ksfxrk 

HkofrA 

(D) rkfu iBukFkZe~ mi;ksxhfu HkofUrA 
87- f'k{kd% ,da ikBa LoxRok iBfr fo|kfFkZu% 

lewgs"kq foHkT; eq[;fcUnwu~ vknk; ikBL; 

iqufuZekZ.ka dqoZfUrA ,oafo/ka dk;Ze~ vfLr------  

(A) Jqrys[k%    
(B) O;kdj.kJqrys[k% 
(C) dk;ZL; iquysa[kue~  

(D) ikjLifjd Jqrys[k% 
88- izFke Hkk"kk fodkl% lk/kkj.kr;k Kk;rs------- 

(A) vf/kxe% bfr  

 (B) vf/kxzg.ke~ bfr 
(C) ifjo/kZue~ bfr  

(D) laKkue~ bfr 
89- dL;kf'pr~ f'kf{kdk;k% d{kk;ka Nk=k.kka 

ekr`Hkk"kk% fofHkék% lfUrA lk izR;sda Nk=a Lo 

Hkk"k;k ijLije~ vfHkoknf;arq fufnZ'kfrA 

izfrfnua Nk=k% fofHkéHkk"kk.kka 'kCnS% lg 

ifjp;kFkZ iz;Ru'khyk% HkofUrA ,oa f'kf{kdk 

lk/ku:is.k v/kksfyf[krs"kq dree~ vkJ;frA 

(A) lalk/ku:is.k cgqHkk"kkokn%  
(B) cgqHkkf"kdrk 
(C) ;kstuk:is.k fofHkérk  

(D) Hkk"kSD;okn% 
90- fo|kfFkZH;% ,dL;k% Hkk"kk;k% ifjp;kFkZ dre% 

ekxZ% u leqfpr% \ 

(A) vUR;kuqizkldforkfHk% xhrS% p   
(B) 'kCnS% y?kqokD;S% pA 
(C) o.kZekyk;k% v{kjk.kka f'k{k.ksuA   
(D) ekSf[kd&Jkfodknkuiznku}kjkA 
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MATHEMATICS 
91. Which is problem–centred and 

democratic technique ? 

(A) Brain storming  

(B) Home work 

(C) Drill work (D) All of these 

92. Heuristic is derived from greek word 

which means. 

(A) To know (B) To plan 

(C) To discover (D) To think. 

93. In analytic method, we proceed 

from. 

(A) Unknown to known    

(B) Particular to general 

(C) Known to unknown    

(D) Concrete to abstract 
94. Whosaid, "Mathematics is the study of 

abstract system built of abstract eleme-

nts. These elements are not described in 

concrete fashion." 

(A) Einstein         

(B) Marshall H. stone 

(C) Bertrant Russell 

(D) Locke 

95. Identify the incorrect statement from 

among the following . 

(A) Mathematical communication 

involve precise use of language  

(B) Conjectures do not have utility in 

constructing. 

(C) Hypothesis have a role in 

constru-ction of mathematical 

knowledge.  

(D) The notion of argumentation is 

central to mathematics. 

96. Rohit realizes that square is both 

arhombus and a rectangle. He is at 

what stage of van hiele's nisual 

thinking ? 

(A) Level 0 (Recognition)   

(B) Level 1 (Analysis) 

(C) Level 2 (Relationships)   

(D) Level 3 (Deduction) 

xf.kr 

91- dkSu&lh leL;k dsfUnzr vkSj yksdrkaf=d 

rduhd gS\ 

 (A) fopkj eaFku (B) x`g dk;Z 

 (C) vH;kl dk;Z (D) ;s lHkh 

92- g~;wfjfLVd xzhd 'kCn ls O;qRiUu gqvk gS] 

ftldk vFkZ gS& 

 (A) tkuuk  (B) ;kstuk cukuk 

 (C) [kkst djuk (D) lkspuk 

93- fo'ys"k.kkRed fof/k esa ge vkxs c<+rs gSa& 

 (A) vKkr ls Kkr  

 (B) fo'ks"k ls lkekU; 

 (C) Kkr ls vKkr  

 (D) ewrZ ls vewrZ 

94- fdlus dgk] ^^xf.kr vewrZ rRoksa ls cuk;k 

 x;k vewrZ ra= dk v/;;u gSA mu rRoksa 

 dks Bksl fo/kku esa of.kZr ugha fd;k x;k 

 gSA** 

 (A) vkbaLVhu   

 (B) ek'ksZy-,p-LVksu 

 (C) cVªsZaM jlsy   

 (D) yksds 

95-  fuEufyf[kr esa ls v'kq) dFku dks igpkfu,% 

 (A) xf.krh; lapkj.k esa Hkk"kk dk iz;ksx 

 ifj'kq) gksuk vko';d gS  

(B) Xkf.krh; Kku dh lajpuk esa vuqeku 

 yxkuk mi;ksxh ugha gksrk gSA 

 (C) xf.kr Kku dh lajpuk esa ifjdYiuk dh 

 ,d Hkwfedk gSA    

 (D) xf.kr esa dfYir rdZ izeq[k gksrs gSaA 

96- jksfgr us vuqHko fd;k fd oxZ ,d leprqHkqZt 

vkSj ,d vk;r] nksuksa gh gSA og oSu ghy ds 

ekul fpru ds dkSu ls pj.k ij gS\ 

(A) Lrj 0 ¼igpkuuk½  

(B) Lrj 1 ¼fo'ys"k.k½ 

(C) Lrj 2 ¼laca/k½  

(D) Lrj 3 ¼fuxeu½ 
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97. Suitable method of Arithmetic 

teaching is. 

(A) Project method 

(B) Demonstration method 

(C) Analytic method 

(D) None of the above 

98. Out of the following which of the 

teaching method in mathematics is 

difficult to use in formal classroom 

situation ? 

(A) Inductive (B) Deductive 

(C) Project  (D) Analytic 

99. The Part of Commercial Mathema-

tics is : 

(A) Calculation of numorical    

(B) Addition and subtraction 

(C) Solving the equations   

(D  Audit of bank working system. 
100. The functioning process of evalua-

tion is: 

(A) Marking    

(B)Decision making 

(C) Error finding  (D) All of these 

101. Reasoning, using variables and 

looking for a pattern are. 

(A)Set of problem–solving strategies 

(B) Helpful in memorizing 

(C) Integral part of drill method 

(D) Not useful while learning mathe-

matics 

102. Achievement tests are - 

(A) Teacher made 

(B) Standardized 

(C) Both A and B 

(D) None of these 

103. A Mathematics teacher is asking 

some true-false question in a class on 

the topic of genometry. This type of 

questions is known as: 

(A) Classification type 

(B) Analogy type 

(C) Alternate response 

(D) Recognition type 

97- vadxf.kr f'k{k.k dh mi;qDr fof/k gS& 

(A) izkstSDV fof/k  

(B) izn'kZu fof/k 

(C) fo'ys"k.k fof/k  

(D) buesa ls dksbZ fof/k 

98- fuEukafdr esa ls dkSu lh f'k{k.k fof/k dks 

vkSipfkjd d{kk O;oLFkk esa iz;ksx djuk dfBu 

gS\ 

(A) vkxeukRed (B) fuxeukRed 

(C) izk;kstuk  (D) fo'ys"k.kkRed 

99- okf.kfT;d xf.kr dk Hkkx gS%  

(A) la[;kvksa dk fglkc yxkuk  

(B) tksM+ o ckdh djuk 

(C) lehdj.kksa dks gy djuk    

(D) cSadksa dh dk;Z&iz.kkyh dh tk¡p djuk 

100- ewY;kadu dh dk;Zlwpd fØ;k gS% 

(A) fpfUgr djuk (B) fu.kZ; ysuk 

(C) Hkwy [kkstuk  (D) ;s lHkh 

101- rkfdZd cqf)] pj la[;k dk mi;ksx djuk 

vkSj ,d iSVuZ dk irk yxkuk gS% 

(A) leL;k gy djus dh j.kuhfr;ksa dk 

laxzg  

(B) ;kn djus esa lgk;d 
(C) vH;kl fcf/k dk vfHkuu vax  

(D) xf.kr lh[kus ds nkSjku mi;ksxh ugha 

102- miyfC/k ijh{k.k gSa& 

(A) f'k{kd }kjk cuk;k x;k  

(B) ekudhd`r 
(C) A vkSj B nksuksa  

(D) buesa ls dksbZ ugha 

103- xf.kr dk f'k{kd T;kfefr ds fo"k; ij ,d 

 d{kk esa dqN lgh&xyr ds loky iwN jgk 

 gSA bl izdkj ds iz'uksa dks--------- ds :i 

 esa tkuk tkrk gSA 

(A) oxhZdj.k izdkj  

(B) lkn`'; izdkj 
(C) oSdfYid izfrfØ;k    

(D) ekU;rk izdkj 
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104. A good answer in math should be...... 

(A) Related to teacher    (B) Testable 

(C) Small       (D) Attractive 

105. What should be there in mathematics 

labaratory ? 

(A) Different type of pictures and 

charts 

(B) Models 

(C) Drawing instruments 

(D) All of these 

106. HCF of two numbers is 7, if these two 

numbers are in the ratio of 13:9. Find 

the numbers. 

(A) 91, 86  (B) 90, 81 

(C) 91, 63  (D) 91, 85 

107. A man spends 72% of his salary and 

saves Rs. 560, find his monthly salary ? 

(A) Rs. 1000  (B) Rs. 2000 

(C) Rs. 3000 (D) Rs. 4000 

108. If the number m is 6 more than the 

number n and sum of the square of the 

m and n is 66 then find the product of 

m and n. 

(A) 13    (B) 17   (C) 15     (D) 19 

109. If an angle is five times to its 

complementary angle, find the angle. 

(A) 15o(B) 75o     (C) 150o   (D) 30o  

110. Area of a circle is equal to the area of a 

rectangle. Perimeter of rectangle is 150 

cm. If length is 9 cm more than the 

breadth, then what will be the radius of 

circle ? 

(A) 21cm   (B)10.5cm 

(C) 42cm  (D) 28cm 

111. A cylinder of height 4 cm is formed 

after folding (without overlapping) a 22 

cm x 4 cm rectangular paper, then 

curved surface area of this cylinder, is. 

(A) 88 π cm2 (B) 88 cm2 

(C) 176 π cm2 (D) 176 cm2 

112. Area of a square field is 6400 m2. The 

distance travelled by a person, in 5 

rounds on its perimeter, is - 

(A) 320 m  (B) 160 m 

(C) 1.6 m  (D) 3.2 km 

 

104- xf.kr esa ,d vPNk mÙkj ------gksuk pkfg,- 

(A) f'k{kd ls lacaf/kr (B) ijh{k.k ;ksX; 
(C) NksVk  (D) vkd"kZd 

105- xf.kr iz;ksx'kkyk esa D;k gksuk pkfg, \ 

(A) fofHkUu izdkj ds fp= vkSj pkV 

Z(B) ekWMy 
(C) vkjs[k.k midj.k    (D) bu lHkh 

106- nks la[;kvksa dk e-l- 7 gS] ;fn Fks nksuksa 

 la[;k,¡ 13%9 ds vuqikr esa gS] rks la[;k,a 

 Kkr dhft,A 

(A) 91, 86  (B) 90, 81 

(C) 91, 63  (D) 91, 85 

107- ,d vkneh vius osru dk 72% [kpZ djrk  gS 

 vkSj 560 :i;s cpkrk gS] mldk ekfld 

 osru Kkr djsa\ 

(A) Rs. 1000 (B) Rs. 2000 

(C) Rs. 3000 (D) Rs. 4000 

108- ;fn la[;k m, la[;k n ls 6 vf/kd gS rFkk 

 m vkSj n ds oxZ dk ;ksx 66 gS] rks m 

 vkSj n dk xq.kuQy Kkr dhft,A   

(A) 13    (B) 17     (C) 15    (D) 19 

109- ;fn ,d dks.k vius iwjd dks.k ls ik¡p xquk 

 vf/kd gS rks dks.k Kkr dhft,A 

(A) 15o(B) 75o     (C) 150o   (D) 30o  

110- ,d o`Ùk dk {ks=Qy vk;r ds {ks=Qy ds 

 cjkcj gSA vk;r dk ifjeki 150 lseh gSA 

 ;fn yEckbZ pkSM+kbZ ls 9 lseh vf/kd gS] rks 

 o`Ùk dh f=T;k D;k gksxh \ 

(A) 21 cm   (B)10.5 cm  

(C) 42 cm   (D) 28 cm 

111- ,d 22 lseh x 4 lseh ds vk;rkdkj dkxt 

 dks eksM+ dj ¼fcuk vf/kO;kiu½] ,d 4 lseh 

 Å¡pkbZ dk csyu cuk;k x;kA bl csyu dk 

 oØi`"B dk {ks=Qy gksxkA 

(A) 88 π cm2 (B) 88 cm2 

(C) 176 π cm2 (D) 176 cm2 

112- ,d oxkZdj eSnku dk {ks=Qy 6400 oxZ eh 

 gSA ,d O;fä }kjk bl eSnku dh ifjfefr 

 ij 5 pDdj yxkus ij r; nwjh gksxhA 

(A) 320 m  (B) 160 m 

(C) 1.6 m  (D) 3.2 km 
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113. Time taken to fill a water tank of size 

2 m x 1.5 m x 1 m, by a tap with 

speed 20 litre/minute, is - 

(A) 9 minutes  (B) 1 hour 30 minutes 

(C) 60 minutes(D) 2 hour 30 minutes 

114. If the cost of 12 dozen pens is Rs. 

720, then the cost of 25 npens is . 

(A) Rs. 1,500 (B) Rs. 150 

(C) Rs. 125  (D) Rs. 1,250 

115. The average weight of 5 students is 

40 kg.  If one student of weight 50 

kg has left them, then the average 

weight of remaining students is. 

(A) 50 kg  (B) 37.5 kg 

(C) 30 kg  (D) 62.5 kg 

116. If a product is sold on 10% profit at 

selling price Rs. 330, then cost price 

of the product is - 

(A) Rs. 360  (B) Rs. 363 

(C) Rs. 297  (D) Rs. 300 

117. In a school under 'shramdan' camp, 

12 students clean for 7 hours. If 

equal part needs to be cleaned in 6 

hours, then how many students will 

be required ? 

(A) 14  (B) 12 

(C) 16  (D) 15 

118. The right descending order of the 

following numbers 
2

7
,

3

13
,

5

6
 is 

(A) 
5

6
,

2

7
,

3

13
  (B) 

3

13
,

2

7
,

5

6
 

(C) 
5

6
,

3

13
,

2

7
  (D) 

2

7
,

5

6
,

3

13
 

119. The value of – 1
3

5
 -  2

2

3
− 4

5

6
  ,is 

(A) 
9

10
  (B) - 

9

10
 

(C) - 
17

30
  (D) 

17

30
 

120. The least number which is divisible 

by the numbers 1 to 10 is- 

(A) 1680  (B) 840 

(C) 2520  (D) 5040 

113- 2 m x 1.5 m x 1 m uki ds ikuh ds Vsad 

 dks ,duy }kjk 20 yhVj@feuV dh xfr ls 

 Hkjus esa yxk le; gS 

(A) 9 feuV   (B) 1 ?k.Vk 30 feuV 
(C) 60 feuV  (D) 2 ?k.Vs 30 feuV 

114- ;fn 12 ntZu isuksa dk ewY; 720 #i;s gS] 

 rks 25 isuksa dk ewY; gksxkA 

(A) Rs. 1,500 (B) Rs. 150 

(C) Rs. 125  (D) Rs. 1,250 

115- 5 Nk=ksa dk vkSlr Hkkj 40 fdxzk gSA ;fn 

 muesa ls ,d Nk= ftldk Hkkj 50 fdxzk gS] 

 NksM+ tkrk gS] rks 'ks"k cps Nk=ksa dk vkSlr 

 Hkkj gksxkA  

(A) 50 kg  (B) 37.5 kg 

(C) 30 kg  (D) 62.5 kg 

116- ,d oLrq 10% ykHk ls foØ; ewY; 300 #- 

ij csph tkrh gS] rks ml oLrq dk Ø; ewY; gS 

(A) Rs. 360  (B) Rs. 363 

(C) Rs. 297  (D) Rs. 300 

117- ,d fo|ky; esa ^Jenku~* f'kfoj ds vUrxZr 

 12 Nk=] 7 ?k.Vs lQkbZ djrs gSaA ;fn mruk 

 gh Hkkx 6 ?k.Vs esa lkQ djuk gks] rks fdrus 

 Nk=ksa dh vko';drk gksxh \ 

(A) 14   (B) 12 
(C) 16  (D) 15 

118- fuEu la[;kvksa 
2

7
,

3

13
,

5

6
 dk lgh vojksgh 

 Øe gS 

(A) 
5

6
,

2

7
,

3

13
  (B) 

3

13
,

2

7
,

5

6
 

(C) 
5

6
,

3

13
,

2

7
  (D) 

2

7
,

5

6
,

3

13
 

119- – 1
3

5
 -  2

2

3
− 4

5

6
  dk eku gS 

(A) 
9

10
  (B) - 

9

10
 

(C) - 
17

30
  (D) 

17

30
 

120- og dkSu&lh NksVh ls NksVh la[;k gS tks 1 ls 

 10 rd dh la[;kvksa ls foHkkT; gS\ 

(A) 1680  (B) 840 

(C) 2520  (D) 5040 
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i;kZoj.k v/;;u (EVS) 
121. Sushma wants her students to be 

sensitized for conservation of trees. 

Which one of the following in the 

most suitable strategy to do so ? 

(A) Group discussion     

(B) Poster making  

(C) Helping children to adopt and 

nurture a plant    

(D) Conductiong a debate in class-

room 

122. Environmental Studies curriculum 

may lead to holistic learning of 

holistic learning of children if it is - 

(A) integrated  

(B) inclusive  

(C) thematic        

(D) All of the above 

123. What does learning without burden 

in the context of environmental 

studies imply ? 

(A) Less number of chapters in EVS 

textbooks     

(B) Load of incom prehension needs 

to be reduced.  

(C) The EVS curriculum needs to be 

reduced to half.    

(D) less weight of school bag. 

124. Women are weaker than men. It is a 

- 

(A) Scientific fact 

(B) Stereotype  

(C) Superstition   

(D) Myth 

125. The ability to understand relative 

position of places, distances and 

direction is - 

(A) Mapping Skill 

(B) Positional Skill  

(C) Graphic Skill 

(D) Directional Skill 

 

i;kZoj.k v/;;u (EVS) 
 

121- lq"kek pkgrh gS fd mlds Nk=ksa dks ^isM+ksa ds 

laj{k.k* ds fy, laosnu'khy cuk;k tk,A 

fuEufyf[kr esa ls dksSu&lh ,slk djus dh 

lcls mi;qDr j.kuhfr gS\ 

 (A) lewg ppkZ  

 (B) iksLVj cukuk 

(C)  cPpksa dks ,d ikS/ks dks viukus vkSj 

iksf"kr djus esa enn djuk   

(D) d{kk esa cgl vk;ksftr djuk 

122- i;kZoj.k v/;;u ikB~;Øe cPpksa dh lexz 

f'k{kk dk dkj.k cu ldrk gS ;fn ;g gS& 

 (A) ,dhd`r   

 (B)  lekos'kh 

(C)  fo"k;xr   

(D) mi;qZDr lHkh  

123- i;kZoj.k v/;;u ds lanHkZ esa ^cks> ds fcuk 

lh[kuk* D;k crkrk gS\ 

 (A) bZ-oh-,l- ikB~;iqLrdksa esa v/;k;ksa dh 

de la[;k      

 (B)  vcks/k&xE;rk dk Hkkj de djus dh 

t:jr gS 

(C)  bZ-oh-,l- ikB~;Øe dks vk/kk de djus 

dh t:jr gS   

(D) Ldwy cSax dk de otu  

124- efgyk,a] iq:"kksa dh rqyuk esa detksj gSaA ;g 

,d------------gSA  

 (A) oSKkfud rF;  

 (B)  :f<+c) /kkj.kk 

(C)  va/kfo'okl  

(D) feFkd  

125- LFkkuksa] nwfj;ksa vkSj fn'kkvksa dh lkis{k fLFkfr 

dks le>us dh {kerk gS& 

 (A) fp=.k dkS'ky  

 (B)  fLFkrh; dkS'ky 

(C)  xzkfQd dkS'ky  

(D) fn'kkRed dkS'ky  
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126. Which National Curriculum Frame-

work (NCF) recommended Environ-

mental studies to be taught as an 

integrated curricular area at the 

primary level ? 

(A) NCF -  1988 (B) NCF - 2000  

(C) NCF – 1975 (D) NCF - 2005 

127. Asking the question "How will our 

life get affectd if there were no 

electricity for a month?" 

Aims at - 

(A) Sensitizing the students on using 

electricity judiciously    

(B) Assessing the students on 

sources of electricity  

(C) Promoting imaginative and 

thinking skills of students  

(D) Assessing the students on their 

general awareness 

128. Which of the following is not an 

environmental problem ? 

(A) Wastage of water     

(B) Conservation of water 

(C) Deforestation 

(D) Land erosion 

129. Which of the following is not 

aresource for EVS teaching- learning 

process ? 

(A) Parents  (B) Worksheets  

(C) News paper (D) None 

130. Which of the following is not a 

theme of teaching EVS at primary 

level ? 

(A) Food  (B) Shelter  

(C) Water  (D) Plants 

131. ................ Should be added in 

collected water as it will spread on 

top of water surface and will not 

allow mosquito to breed. 

(A) Alum   

(B) Kerosene  

(C) Salt        

(D) Calcium chloride 

126- fdl jk"Vªh; ikB~;p;kZ ÝseodZ ¼,u-lh-,Q-½ 

us izkFkfed Lrj ij ,d ,dhd`r ikB~;p;kZ 

{ks= ds :i esa i<+k, tkus ds fy, i;kZoj.k 

v/;;u dh flQkfj'k dh \ 

 (A) ,u-lh-,Q & 1988     

 (B)  ,u-lh-,Q & 2000 

(C)  ,u-lh-,Q & 1975    

(D) ,u-lh-,Q & 2005 

127- ^^;fn ,d eghus ds fy, fctyh u gks rks 

gekjk thou fdl izdkj izHkkfor gksxk\** bl 

iz'u dks iwNus dk mís'; gS& 

(A) leqfpr rjhds ls fctyh dk iz;ksx djus 

ds izfr f'k{kkfFkZ;ksa dks laosnu'khy cukuk  

(B)  fctyh ds L=ksrksa ds ckjs esa f'k{kkfFkZ;ksa 

dk vkdyu djuk 

(C)f'k{kkfFkZ;ksa ds dYiukijd vkSj fparuijd 

dkS'kyksa dk fodkl djuk  

(D) f'k{kkfFkZ;ksa dh lkekU; tkudkjh dk 

vkdyu djuk  

128- fuEu esa ls dkSulh i;kZoj.k dh leL;k ugha 

gS\ 

 (A) ty dh cckZnh (B)  ty dk laj{k.k 

(C)  ouksa dk fouk'k (D) Hkwfe vijnku  

129- fuEu esa ls dkSu bZ-oh-,l f'k{k.k & vf/kxe 

izfØ;k dk lalk/ku ugha gSA 

 (A) ekrk&firk  (B)  dk;Zi=d 

(C)  v[kckj  (D) dksbZ ugha  

130- fuEu esa ls dkSu izkFkfed Lrj ij bZ-oh-,l- 

v/;kiu dk fo"k; ugha gS\ 

 (A) Hkkstu   (B)  vkJ; 

(C)  ty  (D) ikS/kk  

131- ,df=r ikuh esa--------feyk;k tkuk pkfg, 

D;ksafd ;g ikuh dh lrg ds 'kh"kZ ij Qsy 

tk,xk vkSj ePNjksa dks iztuu djus dh 

vuqefr ugha nsxkA 

 (A) fQVdjh  (B)  feêh dk rsy 

(C)  ued   

(D) dSfY'k;e DyksjkbM  
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132. A cave like structure built across a 

mountain to allow trains to pass 

through them is called - 

(A) Tunnels  

(B) Barricades  

(C) Caves   

(D) Level crossing 

133. Tribal museum of Madhya Pradesh 

is located in. 

(A) Indore  (B) Bhopal   

(C) Ujjain  (D) Gwalior 

134. The first leader to serve as CM of 

Madhya Pradesh was: 

(A) Kailash Nath Katju    

(B) Dwarka Prasad Mishra  

(C) Shyama Charan Shukla   

(D) Ravishankal Shukla 

135. Which among the following is the 

highest highway in the world ? 

(A) Delhi - Amritsar     

(B) Agra - Mumbai  

(C) Pune - Machulipatnam   

(D) Leh – Manali 

136. The substances that provide 

nourishment which are essential for 

the maintenance of life and for 

growth are called 

(A) Minerals  

(B) Carbohydrates  

(C) Profeins  

(D) Nutrients 

137. Segregation of concrete from rice is 

an example of which technique of 

sebaration ? 

(A) Threshing  

(B) Winnowing  

(C) Manual Separation    

(D) Filtration 

138. Which of the following is not a space 

agency. 

(A) ISRO  (B) JAXA  

(C) NASA  (D) GSLV 

132- ,d igkM+ ds vkj&ikj xqQk tSlh lajpuk 

ftlesa ls Vªsusa xqtjrh gSa] mUgsa D;k dgk tkr 

gSA 

 (A) lqjax  (B)  fdyscanh 

(C)  xqQk  (D) ysoy ØkWaflax  

133- e/; izns'k dk tutkrh; laxzgky; dgk¡ 

fLFkr gS& 

 (A) bankSj  (B)  Hkksiky 

(C)  mTtSu  (D) Xokfy;j  
 

134- e/; izns'k ds eq[;ea=h ds :i esa in xzg.k 

djus okys igys usrk dkSu Fks\ 

 (A) dSyk'k ukFk dkVtw     

 (B)  }kjdk izlkn feJk 

(C)  ';kek pj.k 'kqDyk    

(D) jfo'kadj 'kqDy  

135- fuEu esa ls dkSu lk nqfu;k dk lcls Å¡pk 

jktekxZ gS\ 

 (A) fnYyh & ve`rlj  

 (B)  vkxjk & eqacbZ 

(C)  iq.ks & elwyhiêue 

(D) ysg & eukyh  

136- og inkFkZ tks thou fuokZg vkSj fodkl ds 

fy, vko';d vkgkj iznku djrs gSa] dgykrs 

gSa& 

 (A) [kfut inkFkZ  

 (B)  dkcksZgkbMªsV 

(C)  izksVhu   

(D) iks"kd rRo  

137- pkoy ls dadM+ksa dks vyx djuk i`FkDdj.k 

dh fdl rduhd dk ,d mnkgj.k gS\ 

 (A) xkguk   (B)  QVdkjuk 

(C)  gkFkksa ls vyx djuk     

(D) fuLianu  

138- fuEufyf[kr esa ls dkSu ,d varfj{k ,tsalh 

ugha gS\ 

 (A) bljks  (B)  tkDlk 

(C)  uklk  (D) th,l,yih  
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139. Which of the following is not a 

bordering state to Manipur ? 

(A) Nagaland   

(B) Mizoram  

(C) Assam   

(D) Meghalaya 

140. The cause of rickets in children and 

asteomalacia in adults is - 

(A) Less intake of vitamin C    

(B) Excessive intake of vitamin C  

(C) Ecessive intake of vitamin D  

(D) Less intake of vitamin D 

141. The traditional form of folk painting 

in west Bengal is ................ 

(A) Paitkar paintings     

(B) Pattachitra Painting  

(C) Thangka Painting    

(D) None of the above 

142. What is 'Pisciculture' ? 

(A) Bee Culture    

(B) Fish Culture  

(C) Poultry culture    

(D) None of the above 

143. Plants are green due to the presence 

of which pigment ? 

(A) Anthocyanin    

(B) Carotenoid  

(C) Lycopene    

(D) Chlorophyll 

144. The water that is safe to drink is 

called 

(A) Freshwater    

(B) Potable water  

(C) Distilled water    

(D) Tap water 

145. M.S. Swaminathan was. 

(A) an ecologist    

(B) a journalist  

(C) an agricultural  scientist   

(D) an arnithologist 

 

 

 

139- fuEufyf[kr esa ls dkSu ef.kiqj ds fy, ,d 

lhekorhZ jkT; ugha gS\ 

 (A) ukxkySaM  (B)  fetksje 

(C)  vle  (D) es?kky;  

140- cPpksa esa lw[kk jksx vkSj o;Ldksa esa 

vfLFke`nqrk dk dkj.k gS& 

 (A)  foVkfeu C dk de lsou   

 (B)  foVkfeu C dk vR;f/kd lsou 

(C)  foVkfeu D dk de lsou   

 (D) foVkfeu D dk vR;f/kd lsou 

141- if'pe caxky esa yksd fp=dyk dk ikjaifjd 

:i ---------------- gSA 

 (A) isVdj fp=dkjh     

 (B)  iêfp= fp=dkjh 

(C)  Fkaxdk fp=dkjh    

(D) buesa ls dksbZ ugha  

142- ^filh dYpj* D;k gS\ 

 (A) e/kqeD[kh ikyu     

 (B)  eNyh ikyu 

(C)  eqxhZ ikyu    

(D) buesa ls dksbZ ugha  

143- fdl o.kZd dh mifLFkfr ds dkj.k ikS/ks gjs 

gksrs gSa\ 

 (A) ,aFkkslkb,fuu     

 (B)  dSjksVhuksbM 

(C)  ykbdksihu    

(D) DyksjksfQy  

144- ihus ds fy, lqjf{kr ikuh dks D;k dgrs gSa\ 

 (A) rktk ty      

 (B)  ihus & ;ksX; ikuh 

(C)  vklqr ty     

(D) uy dk ikuh  

145- ,e-,l- LokHkhukFku ,d 

 (A) ikfjfLFkfrdh oSKkfud Fks    

 (B)  i=dkj Fks 

(C)  d`f"k oSKkfud Fks    

(D) i{kh oSKkfud Fks  
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146. 'Minimata disease' was caused by 

eating fish which have high levels of 

(A) Cadmium    

(B) arsenic  

(C) Mercury    

(D) All of the above 

147. Rule of law conceft has been taken 

in the Indian Constitution from  

(A) Switzerland    

(B) USA  

(C) England    

(D) Ireland 

148. Indian Rhinoceros is protected in - 

(A) Bandipur National Pork    

(B) Corbett National Pork 

(C) Kaziranga National Pork   

(D) Gir National Pork 

149. Greenhouse gas which is present in 

the hightest quantity in atmos phere 

is. 

(A) Carbon - dioxide     

(B) Propane  

(C) ethane    

(D) Methane 

150. Number of National parks in 

Madhya Pradesh is  

(A) 8    

(B) 10  

(C) 12    

(D) 14 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

146- ^feuhekrk jksx* ,slh eNyh [kkus ls gksrk gS] 

ftlesa vf/kd ek=k esa ik;k tkrk gS 

 (A) dSMfe;e     

 (B)  vklsZfud 

(C)  ikjk    

(D) mi;qZDr lHkh  

147- Hkkjrh; lafo/kku esa ^fof/k dk 'kklu* fopkj 

dgk¡ ls fy;k x;k gS\ 

 (A) fLoV~tjySaM     

 (B)  vesfjdk 

(C)  baXySM  

(D) vk;jySaM  
 

148- Hkkjrh; xSaMk dgk¡ lajf{kr gS\ 

 (A) ckanhiqj jk"Vªh; m|ku     

 (B)  dkWcsZV jk"Vªh; m|ku 

(C)  dkthjaxk jk"Vªh; m|ku    

(D) fxj jk"Vªh; m|ku  

149- dkSu lh xzhugkÅl xSl okrkoj.k esa lcls 

vf/kd ek=k esa mifLFkr jgrh gS\ 

 (A) dkcZu & MkbZvkWDlkbM     

 (B)  izksisu 

(C)  ,Fksu    

(D) ehFksu  

150- e/;izns'k esa jk"Vªh; m|ku dh la[;k gS& 

 (A)  8     

 (B)  10 

(C)  12    

(D) 14  
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                     MPTET ANSWERS             Date – 30/01/2022 

1 A 21 B 41 C 61 D 81 A 101 A 121 C 141 B 

2 C 22 D 42 B 62 A 82 B 102 C 122 D 142 B 

3 B 23 C 43 D 63 C 83 D 103 C 123 B 143 D 

4 B 24 C 44 C 64 A 84 A 104 B 124 D 144 B 

5 B 25 B 45 D 65 D 85 C 105 D 125 A 145 C 

6 D 26 C 46 C 66 D 86 C 106 C 126 C 146 C 

7 B 27 C 47 D 67 D 87 B 107 B 127 C 147 C 

8 B 28 B 48 B 68 D 88 A 108 C 128 B 148 C 

9 C 29 D 49 D 69 D 89 D 109 B 129 D 149 A 

10 C 30 C 50 A 70 C 90 D 110 A 130 D 150 C 

11 A 31 A 51 C 71 A 91 A 111 B 131 B   

12 A 32 B 52 C 72 D 92 C 112 C 132 A   

13 D 33 A 53 D 73 B 93 A 113 D 133 B   

14 C 34 B 54 C 74 D 94 B 114 C 134 D   

15 B 35 C 55 D 75 B 95 B 115 B 135 D   

16 A 36 D 56 D 76 C 96 C 116 D 136 D   

17 B 37 D 57 C 77 D 97 C 117 A 137 C   

18 C 38 B 58 B 78 C 98 C 118 A 138 D   

19 D 39 D 59 B 79 A 99 D 119 D 139 D   

20 A 40 A 60 D 80 C 100 D 120 C 140 D   

Hkkx&2 ¼laLd`r½ 

61 D 66 A 71 D 76 C 81 D 86 A 

62 D 67 A 72 B 77 D 82 B 87 B 

63 A 68 D 73 A 78 B 83 C 88 B 

64 C 69 D 74 A 79 B 84 C 89 A 

65 D 70 C 75 C 80 A 85 D 90 C 
  


